HERXHMIER

ERZHW, TERE-RIIEZNE, —EUFrHRSHEREEMETH K. REEEHAT SR
%Rﬁﬁ%x%ﬁﬁ REH AR % AR X 5 BBV K

@%ﬁﬁ
THIEH) A RBE RS
o EWEZLRERE (£ /ZHE) #8%,;
o E%Hﬁﬁ%ﬁ%%:______(%%?ﬁ)%%,

% BE # 34 =FEAM60>EMA120
=% BF # $4=EMAG0<EMA120

o BHNBEMFMBR: _ EERHE (123 F 6 HEErm), SEEBETEN
RHEMEE: (2Z R R (MERXHL2%K%));

RITEBEER5?
o EARZHIBA:

o MEMUEANR: RITHE: 0 WE/#x) __ (RAE/FE);
o FTHEAMER: A)
REVTEHI 2 AT EE?

o MWMRWHBETHEAFEERY, FIEEFNEERITLEALR:

o TafhiE&(E: B)

RV ERAR Z TR
o MRWHETHETFETEM, FRITHAMEERTHALR:

o TRfalLiEER: C)

FTEAEEL
o EEXZMAERELL: (B-A)/(A-C)=
AR AR 3 B A

R G EREE
o BEEXRZFAUAXNRAERS#EEZS: D)
o BEXFREZWULFANEYR: D/AC)=—____ T“E

MARKET
MEMO

@TheMarketMemo All rights reserved.


https://youtu.be/MTmz6OLCykc
https://www.youtube.com/channel/UCZyTcQHJGKkGeotf0vWA7Rg

